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Klíč
I.
1D Neville Chamberlain

2B Winston Churchill

3A Margaret Thatcher

4E Tony Blair

5C David Cameron

II. 

1. Conservative (Chamberlain, Churchill, Thatcher, Cameron) Labour (Blair)
2. Blair, Cameron 

3. Churchill
4. She was very unpopular due to her restriction of social support.
5. Because of her uncompromising conservative politics. 
6. It was signed by France and Great Britain (Chamberlain) and led to the annexation of the Sudetenland region of Czechoslovakia to Germany.

7. Students' own answers (e.g. a short-sighted solution …) 

8. Blair signed this agreement in 1998, which settled down the conflict in Northern Ireland.

9. Winston Churchill (1940–45 and 1951–55), Tony Blair (1997 to  2007).   

10.  His party started defining its politics as "New Labour" and "New Socialism", stopped supporting state socialism and tried to create a new version of ethical socialism.
III. 
1. After winning the general election she became the Prime Minister. 
2. Thatcher is a Baroness, which entitles her to sit in the House of Lords..

3. He signed the agreement.

4. Cameron is a direct descendant of King William IV. 
5. Tony Blair helped to settle down the conflict in Northern Ireland..

6. When his child was born, Cameron took paternity leave. 
7. He resigned as Prime Minister when the allied forces retreated from Norway.
8. Blair established the Scottish Parliament.
9. Chamberlain's reputation remains controversial. 
10.  Chamberlain pledged Britain to declare war on Germany. 


